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O B¢ BE NEMEHOISZY 579,500,0002 * 14! 579,500
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= 87,750
Al 87,750
03 Al& S H| 5,760 5,760 0
0 2SB XA 5,760
O MEMEIDIE T4 1,600,000,0002 * 0.36/100 5,760
3 3,760
= 1,000
Al 1,000
HYYMS0IBSE 75,887 313,600 A237,713
= 49,884
= 7,801
Al 18,202
402 QIZHRHROIH 75,887 313,600 ~237,713
= 49,884
= 7,801
Al 18,202
01 pIZXEEE 75,887 313,600 £237,713
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= 2,428
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O WEHALAST 59,608,000 * 14! 59,698
= 41,789
= 5,373
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1,824
4,256

=MW

01 2ItpE28x 10,640 82,601 AT1,961
T A 10,640
22HESAY 3,800,000& * 70/100 * 4CH 10,640

4,560
1,824
4,256

= HnH

MR AS AL 7,340 100,000 A 92,660

3,670
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= H

402 2I2b=01H 7,340 100,000 A 92,660

3,670
3,670

= H

01 2IEAEE X 7,340 100,000 292,660

& 7,340
AEMADBHAMSHEAIL) 7,340,000& 14l 7,340
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319,375
188,430
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A SHE =X
Ha: MENATHRL Y ES
ol ARTIEES el
SN BB SR(S) - MRAY - BES arol e s
Al 1,418,241
Xl CH =4 521,008 556,385 A 35,377
jellalls] 120,000 138,787 A18,787
JIZEH 22 NS Es 120,000 138,787 N 18,787
[ AE2AIR CI2H B8 2 120,000,000& = 14 120,000
B2 134,728 141,378 26,650
AtR2tel ] 31,370 30,970 400
[ et=ZH| 11,270
O f&I &ldot 99,000& * 30CH 2,970
O R4HI| =t HE 10,000& = 30CH 300
O dt=X2d s+ M 100,000 * 40002 * 23] 8,000
O gxz 4,000
O g8lls& 4dx Zadgel dxt 500,000& * 8CH 4,000
[ =&l 16,100
O ¢tEEs gRFd 7,000& = 5% » 110 3,850
O ¢=2&83s =4l 7,000& * 25 » 70 12,250
02 25234l 103,358 110,408 AT,050
0 A=l 26,228
O 8I1& =4 HYHI(HR) 1,700& * 8004 1,360
O &= HEHHI(AR) 1,7003 * 24.84 = 1202 » 3 15,178
O GEZAl 2T & =4 HEH(AR) 1,700& * 22~ 150 * 1902 9,690
O AlE EHI s X 21,000
O &t&E Mol =+ &Hl |X2c 50,000& * 108 23| 1,000
O &2 XSHEHl 22l 9,000
S8 el 25,000& * 100CH 2,500
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A SHE =X
Mo AENATLR U 25
ol ARTIEES chel &
5 A CERI(B) - HIRAY - B S & oy e =2
stoliel A 70,000& * 80CH 5,600
SEIX= 300,000& * 3JH A 900
O RoIZAIZtHICH X 1,300,000& * 20 * 23] 5,200
O &=l ¥ 2A 2 200,000& * 1970 2 3,800
O g8IHRYE RAE* 2,000,000 * 1IH2 2,000
[ Xtg - dehl 35,500
O SEEAIEEH) 3,000,000& = 1CH 3,000
O A8SEX 3,000,000& = 3CH 9,000
O A8s=xt 3,000,000& = 2CH 6,000
O E&x(aseY 3,500,000& = 5CH 17,500
032222 2 HAl 20,630
O XAsXA £ &2 9,480
SEHAH(SE 565
At= XA 50,000& * 1CH 50
- dAls==8 15,000& = 1CH 15
- B8z 500,000& * 104 500
28 SEH(30) 1,755
- KNS XA 70,000&  3CH 210
- A= 15,0002 * 3CH 45
- 28z 500,000& = 3CH 1,500
28 3tE(200) 1,190
- XS XA 45,0002 = 2CH 90
- dAle=2 50,000& = 2CH 100
- B8z 500,000& * 2CH 1,000
EEPNIES 4,650
- KNS XAl 80,000& * 5CH 400
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Bu: NUNREISBL L 25
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SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
- A= 2 50,000& * 5CH 250
- E88 800,000& = 504 4,000
BENERES 60,000& * 1108 = 23l 1,320
O 8J1% =4 dIIANES 50,000& * 7& 350
O SelZAlZthict d83d AIEE 400,000 * 2CH = 128 9,600
O dESHAL dIIMER 100,000& = 123 1,200
202 O4dl 24,600 24,600 0
01 =W 24,600 24,600 0
O WMEES JRFA 20,000& * 69Y * 75 9,000
O &dSugEF=a 20,000& * 30€ * 10 6,000
O MSHLEs RIYF A& 80,000& * 60 * 2¢ 9,600
206 M=l 107,070 92,500 14,570
01 Mz bl 107,070 92,500 14,570
O &EXstE 27 15,0003 * 5004 7,500
O s A0 Akl M 6,000& = 2,0000H 12,000
O &= FHEX EX AFRI2IE MA 10,000& = 6000H » 23] 12,000
O JaSH 28 1,000,000& * 104 10,000
O &M4=2A2 0IEX =& 1,700& = 24 = 107H = 150 54,570
O &0 222 2HAE 10,000& = 1,10004 11,000
301 LetEasg 84,410 40,200 44,210
09 Z2UAIRRIEBLHS 44,210 0 44,210
O g2 44,210
O =4l 5,000& » 34H » 253 43,010
O Il=t| 150,000& = 89H 1,200
10 SAAHIEAS 39,200 39,200 0
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A SHE =X
Mo pENRELR L 25
el MRITEES el H e
= A FSRI(B1) - NIRAY - B S skl e s
O =0l & AT 7,000& * 100ZF * 63l 4,200
O st=&st g4H| 7,000& = 1,000& 14,000
[ S8Hs &4=2H 1,000,000& * 2108 = 21,000
12 JIEtEA 3 1,000 1,000 0
O] A AN &0l 50,000& * 20 1,000
303 L&z 21,200 16,200 5,000
01 Z&3 21,200 16,200 5,000
O &=l sHsS 20,000,000& * 14 20,000
O &= 3L 30,000& * 409 1,200
401 Al&HI LR OHYI 20,000 93,720 AT3,720
01 Al&HI 20,000 93,000 A73,000
O a=0e 2401 5,000,000& * 14 5,000
O a=s0e s 500,000& * 2474 & 12,000
[0 Degsdsgdgo 300,000& = 10CH 3,000
405 XtobE SHI 9,000 9,000 0
01 T =S H SHI 9,000 9,000 0
O d=xs 2 900,000& = 10CH 9,000
SYUXNHBRA(Z4) 394,431 299,786 94,645
= 156,286
& 70,329
Al 167,816
101 el 4] 334,716 254,551 80, 165
= 133,886
= 60,249
Al 140,581
04 JI2tHI2E2NHEE S 334,716 254,551 80, 165
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el
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HL
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SN B EP(EH) - HIRAN -
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o

2=
Je

2 (A
R
J2H
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Ol

[
H
E

M0 H
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e
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=

47,6382 * 50% * 1402

50,000% * 5% * 52

= H W

= H W

334,716

333,466
133,386
60,024
140,056
1,250
500

225

525

=i

19,015
6,800
3,060
9,155

13,920

5,095

220,000& = 50

7,000& =1,1459

= H W

= Hn W

19,015
19,015
11,000

11,000

4,400
1,980
4,620
8,015

8,015

2,400
1,080
4,535

13,920

5,095

202 OdHl

= H W

7,500
2,320
1,044
4,136

8,120

A 620
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7,500 8,120 A620
7,500
20,000& » 25& = 15 7,500
2,320

1,044
4,136

<
0 W
=
2
(==

H
=z K
R

ML T
Pl ve
>.

o >
W
on
=

= HnH

206 M= dl 30,000 21,595 8,405
12,000
5,400
12,600

= HnH

01 M=l 30,000 21,595 8,405
ZA 30,000
&t &l 300,000& = 10074 30,000

12,000
5,400
12,600

= H W

405 Xt&bE SHI 3,200 1,600 1,600
1,280

576
1,344

= H W

01 MM =SFSHI 3,200 1,600 1,600
O 2 NEZAMY 3,200
E 2&J] A 800,000& = 44 3,200

1,280
576
1,344

=MW

AEUTUHRIE () 46,644 90,293 A43,649

18,657
8,396
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Al 19,591

401 AlIEHIZ S THYI 46,644 40,293 6,351
2 18,657
= 8,39
Al 19,591

01 AlZHI 46,644 40,293 6,351
O =022 AS 46,644

O JIAHSAETFAAE (L) 3,500,000& * S5MIE 17,500
7,000

3,150
7,350
O RHEISAFHI(HE=) 3,000,000& = 1CH 3,000
1,200

540
1,260
O &= olFS82xd 4,247,670 * 3ha 12,744
5,097
2,294
5,353
O RZAIZHHZH KX E ) 5,000,000& = 10HA 5,000
2,000

900
2,100
O M=Z A AXIZH AlIAE 140,000& = 6074 2~ 8,400
3,360
1,512
3,528

=MW = H W =MW = HnH

= H W

AHS ST (&) 493,200 378,000 115,200

43,200
450,000

= K
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S ARSI
M MENATHBE U 25
ool M ES (B9 &)
- _ — NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
101 Q1248 475,200 378,000 97,200
= 37,800
Al 437,400
04 JIZH2ZSES 475,200 378,000 97,200
0 SHIE XA 475,200
O AZEZAIY Q1A 36,0002 * 80 * 1652 475,200
= 37,800
Al 437,400
206 T2 8,000 0 18,000
= 5,400
Al 2,600
01 HEbl 18,000 0 18,000
0 SHIEZEA 18,000
O JHQIF SR HI M E 200,0008 * Q0NIE 8,000
= 5,400
Al 12,600
AP T CH R (X2 78,900 4,091 74,809
= 23,670
Al 55,230
401 Al&HIL 20| 78,900 4,091 74,809
= 23,670
Al 55,230
01 Al&| 78,900 4,091 74,809
0 SHEZEAM 78,900
O WA sHA SR 7L 3,500,0008 * 14ke 49,000
= 14,700
Al 34,300
O MERAVSHELSAIL 15,000,000% * 14} 15,000
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S A =X
o MR ELBE L 25
©el: AEXEES (e ®e)
_ - HEc
= - SRA(3A) - NRAME - BES &hoY Ol At ot Huws2
< 4,500
Al 10,500
O txgxs =3 900,0002 * BCH 7,200
= 2,160
Al 5,040
O AHSZAIR AXNZH AIAE 140,000& * 557K 7,700
= 2,310
Al 5,390
Aol S el 22,190 51,235 A29,045
202 04 Hl 6,500 6,500 0
01 =LHoil 6,500 6,500 0
O sdgats 2R ol 20,0008 * 5% * 65 6,500
206 M=l 5,690 4,735 955
01 MHEZHl 5,690 4,735 955
[ SsY=ntelgr =0 30,0008 * 20CH 600
0 Ss"83337 €7¢ 50,0002 * 207K 1,000
O Al SN R 4,090
O #gR 1,800& * 300 £ 540
O 33w 1,7008 * 2,000 £ 3,400
O 24 5,0002 * 30¢ 150
401 AlEHIZL 20 10,000 40,000 A.30,000
01 Al&dl 10,000 40,000 30,000
O AURHEASE LA 10,000,000 » 14 10,000
AEHHSL M (S]) 158,660 146, 161 12,499
= 86,979
== 21,124
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J2H
0l
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Al 50,557

101 el 244l 75,152 75,152 0
37,576
10,964
26,612

=MW

04 JIZHMIZ2XNSE =+ 75,152 75,152 0
O =022 AS 75,152

O GIZZHE 22| 69,160& » 4H * 250 69, 160
34,580

10,090
24,490
O HEYMNME 282 1,498,000& * 4% 5,992
2,996

874
2,122

= HnH

=MW

201 LetE2EH 6,200 6,200 0

3,100
905
2,195

=MW

01 AtS2t2iHl 6,200 6,200 0
O =082 AY 6,200
AX= 6,200

Ol Z 2 A M Xt 775,000& * 8& 6,200
3,100

905
2,195

= HnH

206 M= dl 11,718 10,976 742

5,858
1,712

o
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Al 4,148

01 M=Hl 11,718 10,976 742
0 2 NEZAMY 11,718

O WZEH o=l 1,494,000& * 4% 5,976
2,987

872
2,117
O &Y »JU = 625,000& = 83 5,000
2,500

729
1,771

(OR=P\ PADN; 742
SFNI== &0 33,000& * 404 132
67

19
46

L=REH 130,000& = 404 520
260
78
182

2HH= Y LA 22 5002 * 44 90

=MW

= H W

= HnH

= N W

14
32

= H W

401 AIEHIZ 20 65,590 50,833 14,757
40,445
7,543
17,602

= H W

01 Al£Hl 65,590 50,833 14,757
O 2 NEXZAMY 65,590
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A SHE =X
Hm: MRGEEHRL Y 25
ol ARTIEES (e de)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
O &30 DASHA 21,570 * 400= 8,628
= 6,210
= 726
Al 1,692
O sY=EIel URFA 470,760& * 100ha 47,076
= 29,024
= 5,415
Al 12,637
O NadXadr-a=sue 133,200& * 25ha 3,330
= 1,715
& 485
Al 1,130
O NadNa4eH-HUSE AL 254,300& * 10ha 2,543
= 1,424
= 335
Al 784
O Ssdladgr-2elLtReLd 133,750& * 20ha 2,675
= 1,381
L= 388
Al 906
O a8 Xa4LH-JIEt= 133,800& * 10ha 1,338
= 691
& 194
Al 453
At Hol S A EH 2 Y 11,750 0 11,750
= 5,875
& 1,762
Al 4,113
405 AHoHFESHI 11,750 0 11,750
= 5,875
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- ERI(2A) -

20
R
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= H

1,762
4,113

O JIAE

O HEZFANE

750,000& = 3CH

750,000& * 204

8,000,000& * 1AIE

= H W = HH

= H W

11,750
11,750
2,250
1,125
337
788
1,500
750
225
525
8,000
4,000
1,200
2,800

=
x
Of
0F
=
L]
o
e
S
=

= i

13,865

4,160
9,705

13,864

101 1A

= H

13,865

4,160
9,705

13,864

04 JI2tHIZ

O Mo

4E 0O

NSEF
AL

O SHE

=t
=2

[0

46,2158 » 18 » 300&

= H

13,865
13,865

13,865

4,160
9,705

13,864

17,740

14,740
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A SHE =X
Hm: MRGEEHRL Y 25
ol ARTIEES SEREE)
- _ _ XN -
SN - HE - SI(E) - NRAY - BAS & oy e =2
206 M=l 12,500 12,500 0
01 M=z Hl 12,500 12,500 0
[ soi0tds=S A 2R 7,000
O Zd s ¢ 1,000& * 3,000& 3,000
O uz=gd 2 1,000& * 4,000& 4,000
[ SoliOtd =S TR A2 4,500
O =F & 1,000& = 2,000 2,000
O =7 A& 5,000& » 500 2,500
[ OpdzZ=== HOl==D| 10,000& * 50 = 23] 1,000
301 Yptsaazg 2,240 2,240 0
10 EAAHIBAS 2,240 2,240 0
(] O SOOI &AL =4 7,000& » 80 2,240
307 12+0IH 3,000 0 3,000
05 2IRIRAES 3,000 0 3,000
O otMESERx EXS 1,500,000& 3,000
MES ST oMl AL 34,200 25,000 9,200
= 17,100
< 5,130
Al 11,970
401 AM&HIL 2048 34,200 25,000 9,200
= 17,100
& 5,130
Al 11,970
01 Al&HI 34,200 25,000 9,200
O =202 X Ad 34,200
O Old==TIoiolEAl- 34,200,000& = 14 34,200
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17,100
5,130
11,970

= H W

OIS ESldisHEEa= 10,000 12,000 22,000
3,000
7,000

= i

301 LetEa= 10,000 12,000 22,000

3,000
7,000

= H

12 JIEtE o= 10,000 12,000 2,000
CHIE ALY 10,000
O Hds=Slloisd=s 24 10,000,000& = 14| 10,000
3,000
7,000

= H

O EAlE E5(%Hl) 12,400 11,900 500
3,720
8,680

=z H

101 1A 8,400 8,400 0
2,520
5,880

= i

04 JIZHZE2NSES 8,400 8,400 0
A 8,400

O OdsSAE ZAE URY 42,0008 » 18 » 200& 8,400
2,520
5,880

=

206 M= dl 2,000 2,000 0
600
1,400

= H
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S A =X
o MR ELBE L 25
©el: AEXEES (el &2
. _ - HEc
SN -3 SAEA) - N2AY - BES Off &+ o4 Ol At ot Huws2
01 Ml 2,000 2,000 0
0 SHIE XA 2,000
O ordsE 20I=D 2,000,000 = 14l 2,000
= 600
Al 1,400
307 QI2tolH 2,000 1,500 500
(== 600
Al 1,400
05 QIZtLES 2,000 1,500 500
O SHIEZAY 2,000
O otdiss dzde 29 2,000,000& * 14! 2,000
< 600
Al 1,400
MY S E S 7 FLH H X & A= 2,000 4,000 A2,000
= 600
Al 1,400
401 AIEHIL 2O 2,000 4,000 A2,000
[ 600
Al 1,400
01 Al&d 2,000 4,000 A2,000
[ SHIE XA 2,000
O MHFSES A HHEXE &X 1,000,000 * 2004 2,000
= 600
Al 1,400
Irgae 63,450 13,450 50,000
201 LEH2 Y 450 450 0
01 AtRZeltl 450 450 0




A SHE =X
mNu: pEERgRe 2 25
CHel MRITIRIE S el H e
SN - HE - SI(E) - NRAY - BAS & oy e =2
[0 Let=2H| 450
O 278 22HEM & AEAHA 50,000& * 95 450
401 Al&HIZL=ROHYI 63,000 13,000 50,000
01 Al&H| 63,000 13,000 50,000
O SR 88 2 2esds8 100,000& = 50E X| 5,000
O SR 22 100,000& = 80X 8,000
[0 HE SSFHE AMIHE =4 50,000,000& * 1JH2 50,000
AFRIMHIAS0F Q12 HH|X 2 22,348 30,000 AT 652
= 22,348
301 YptEaazg 22,348 30,000 AT,652
= 22,348
09 SUIRRABLZ 22,348 30,000 AT,652
O 202X Ad 22,348
O 2@ 22dl ¥ 20l 1,117,400& » 20 22,348
= 22,348
HEHIES ALY 22,260 22,260 0
= 11,130
= 3,339
Al 7,791
401 A &HIL 2048 22,260 22,260 0
= 11,130
= 3,339
Al 7,791
01 Al&HI 22,260 22,260 0
O =2 NEXAY 22,260
O HSHAESAIS 22,260,000 » 14] 22,260
= 11,130
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A AE =X
M pgExd2te @ B
& MENRAES (&9 H
- — HE &
SA B B(H) - MEANY - BES 0 &¢ o aee HDE2
= 3,339
Al 7,791
HEUHAESE8SXR 1,000 0 1,000
= 1,000
202 O 1,000 0 1,000
= 1,000
01 SUWAHYI 1,000 0 1,000
0O FNEXZAMY 1,000
O HMElidEsasid 20,000& = 5&F » 10¢ 1,000
= 1,000
SA=ST(EAE) =4 2 27 9,349,236 4,291,924 5,057,312
= 179,284
& 2,650,000
= 873,882
Al 5,646,070
SANs ¥ =sXX4 2 3,402,220 2,856,336 545,884
= 90,660
= 41,293
Al 3,270,267
2= 2 DA 4 Fdl2el 410,490 729,322 A318,832
201 et 6,390 6,470 N80
01 AtR2teld] 5,390 5,390 0
0O Sl 5,390
O =Xxgdze =8 7,000& * 798 = 110 5,390
02 23223l 1,000 1,080 N80
O AlE EHI =X 1,000
O JtZ2+2c| s 200,000& * 53 1,000
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X XH .
S Tt

el

&g =X ot

SAsI(CAlE) 24 & 22
CSANE ¥ sXx4 22

m
0
F]
o

= A CERIEIH) - MIRAY - AR &y e =H
202 O 10,500 10,500 0
01 =LHAOYI 10,500 10,500 0
O sXxzd2e g2=F 20,000& * 7 * 75¢ 10,500
206 M= dl 15,900 1,400 14,500
01 M=Hl 15,900 1,400 14,500
O Jtz+ 22l A 350,000& * 45 1,400
O otz ol E 30,000& » 105 * 152/ 4,500
Oz 2@ 200,000& * 5& * 1004 10,000
401 AlZHI 2SO 377,700 710,952 333,252
01 A&l 375,000 706,000 331,000
O SAIE Z24 60,000,000& = 14| 60,000
O 2+ sX2 80,000,000& = 14! 80,000
O otsz 2= 500,000 = 2CH = 50 50,000
O 22F 22l 30,000,000& * 14| 30,000
O 28 2ddE =304 2cl 2,000,000& * 103l 20,000
0 &== 0I4 5,000,000& = 42 20,000
O MEdEs Edl 5,000,000& = 14| 5,000
O =% &4 60,000,000& = 14! 60,000
0 =0t 223 x4 50,000,000& * 14| 50,000
03 A&=20HYI 2,700 4,052 N2,252
O Ji2= ¥ SAIEXd Edl2ta 375,000,000& * 0.72/100 2,700
x@4 ne 530,486 556,844 A26,358
201 Bt 11,650 11,650 0
02 32234l 11,650 11,650 0
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S Tt

ol

&g =X ot

SA=T(EAE) =4 2 22

[e=)
CSANE ¥ sXx4 22

[
0
r
10

A B S(E) - NRAY - BES 0f & o e HIDZ2
O A2 EHIR Xl 11,650
O =XZel 8l |FA2el 100,000& = 10CH = 43 4,000
O daisdH &7 1,700& = 4,500 ¢ 7,650
401 AlZHI LRI 507,636 533,994 A26,358
01 Al&HI 505,440 530,650 A25,210

O 23X & =X2c| HPet 267,440
O =7 &8 65,0008 » 78 = 1502 68,250
O &CZ0| 65,0008 » 728 = 150€ 68,250
O H=x¢ 40,000 » 20& = 125 100,000
O ¢se=2 28z 30,940
AA2EE 256,500,000& = 2.54 / 100 6,516
FIRASE 6,516,000& = 4.78 / 100 312
=0z 256,500,000& = 4.5 / 100 11,543
NEEEE 256,500,000& * 1.3 / 100 3,335
MHEE= 256,500,000& * 3.6 / 100 9,234

O =&+ 2l 110,000
O 24 & FHl 50,000,000& * 14 50,000
O =&xd 40,000,000 * 14 40,000
O gx3dd sdHe 10,000,000& * 14! 10,000
O dldi2tel 10,000,000& * 14 10,000
O =28 MHES 78 800,000& * 205 16,000
Oz, 23X S =SS Xl 30,000,000& = 14! 30,000
O sdstd, 28X &dUE* 20,000,000& * 14| 20,000
O =2cith =38 10,000,000& * 14! 10,000
O ate 83 50,000& * 800= 40,000
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SN A =X
HHM: TASI(SAE) =8 2 22

Sol SAIE ¥ SAEY 22 (Etel:&9)
- _ _ XN -
SH - EB - S(BH) - MBAY - BES 0l & 24 e BB
O ZOMEE SHAY 10,0008 + 1008 * 33 3,000
0 Z2Z4+2 Y5 gH AH7Y 30,0008 * 20 * 153 9,000
03 Al& =0 2,196 3,344 A1,148
0 ZF422 ALY 305,000,0008 * 0.72/100 2,196
405 HatE S| 11,200 11,200 0
01 HAYLSEHSH| 11,200 11,200 0
0 SSXTIRII(2011) 3,000,000% * 2CH 6,000
EE=EFSE-B] 600,0008 * 6CH 3,600
0 S=XORII(0FI) 400,008 * 4CH 1,600
M MHIAE 20 84,434 82,428 2,006
= 50,660
= 10,133
Al 23,641
301 LetEaa 3, 144 3,144 0
= 1,886
= 378
Al 880
10 BAFAHI 2 A3 3,144 3,144 0
BENEEIN- 3,144
O sLXAR2 524,0002 * 1% 524
= 314
= 63
Al 147
O TA=sxzeH 524,0008 * 2% 1,048
= 629
= 126
Al 293
O stnz2C 524,008 * 1% 524
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SN A =X
HHM: TASI(SAE) =8 2 22

el TAZ 2 =XEM 2o (e de)
SN SRI(BH) - MRAY - BES 0] &k o8 e Hl =2
= 314
& 63
Al 147
O MEMHEHOIS2FD0LIA 524,000& * 29 1,048
= 629
= 126
Al 293
401 A &HIZL 2048 81,290 0 81,290
= 48,774
= 9,755
Al 22,761
01 Al&H| 81,290 0 81,290
[ =2 N2 XA 81,290
O =Z A& 13,548,000& 14 13,548
= 8,129
= 1,626
Al 3,793
O ZA=sX2el & 27,096,000& » 14 27,096
= 16,257
= 3,251
Al 7,588
O gtu=3al 13,548,000& = 14 13,548
= 8,129
& 1,626
Al 3,793
O MEMEOIS2F0LIA 27,098,000& » 14 27,098
= 16,259
& 3,252
Al 7,587
MeEtel X -d a2t 80,000 0 80,000
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40,000
12,000
28,000

= H W

401 AlEHI LS HH 80,000 0 80,000
40,000
12,000
28,000

=M W

01 AlZHI 79,289 0 79,289
A 79,289
= d=FHA 79,289,000& * 14 79,289
39,650

11,850
27,789

03 A2 204bl 711 0 711
O =082 AS 711

O Jiz= dxatdid 79,000,000& = 0.90/100 71

350

150
211

= HnH

= HnH

=
H
1
][]
Oh
i
it}
=

26,000 8,000 18,000

7,800
18,200

= H

401 Al&HI YL SO 26,000 8,000 18,000

7,800
18,200

= H

01 Al£Hl 25,730 8,000 17,730
O SHIEEAY 25,730

O HE2xollsSEHII 25,730,000& * 14 25,730
7,700

H
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Al 18,030
03 A&=20HYI 270 0 270
O SHIEZAEY 270

O =zl sSEEDI 25,000,000& * 1.08/100 270

100
170

= H

HEA22(0/Y) 28,400 23,300 5,100
11,360
17,040

= H

401 Al&HI YL SO 28,400 23,300 5,100

11,360
17,040

= H

01 Al£Hl 28,098 23,051 5,047
O &= 28,098
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